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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I- I would like to compliment Jaden for the course of action he recommended because |
think it will ~—--eeeeeev our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

P N | —— -- is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

3- Do you know of an alternate route we could take to -—--------- -- having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —----------
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an ------—--——-- pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to ----——---— its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7-  It's an ---=-=-—- to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

8-  Mr. Baker has decided to move to a big city because of a - ---- of employment

opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

A seed library is an institution that lends or shares seed. It is distinguished from
a seedbank in that the main purpose is not to store or hold germplasm or seeds against
possible destruction. but to disseminate them to the public which preserves the shared
plant varieties through propagation and further sharing of seed. Seed libraries usually
maintain their collections through donations from members. but may also operate as
pure charity operations intent on serving gardeners and farmers. A common attribute
of many seed libraries is to preserve agricultural biodiversity by focusing on rare,
local, and heirloom seed varieties. Seed libraries use varied methods for sharing seeds,
primarily by seed swaps otherwise known as seed exchanges, in which library
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16-

17-

18-

19-

20-

members or the public meet and exchange seeds: and seed lending, in which people
check out seed from the library's collection, grow them, save the seed, and return seed
from the propagated plants to the library. Seed libraries may function as programs of
public libraries. Seed packets are usually located next to everyday circulated items like
books. audiobooks, CDs, and DVDs. Seed libraries in public libraries have been
successful because they catch patron hobby curiosities. Public libraries are an
appropriate space for seed libraries because they make seeds and plants available to
everyone. They are also located in college libraries or as membership based online
programs. Some have developed as programs of botanical gardens or from gardening
associations and research institutes. Other seed libraries have evolved from community
sustainability or resilience efforts. Seed libraries complement the preservationist
activities of seedbanks. by collecting local and heirloom varieties that might otherwise
be lost, and by collecting new local varieties. In theory. lending and returning seed
libraries will also promote local agriculture over time, by growing collections of seeds
locally adapted to the region.

It is stated in the passage that —-----eeeeeeeee,

1) library charities often serve local gardeners and farmers

2) seed libraries mainly deal with rare and local seed varieties

3) it takes time for ‘imported” seeds to adapted to a new region

4) seed packets are sold next to CDs and DVDs in a seed library

We can conclude from the passage that —----eeeeeeee

1) gardening associations form their own programs of botanical gardens
2) seeds are protected against possible destruction inside a seed library
3) agricultural biodiversity requires strong well-preserved germplasms
4) both seedbanks and seed libraries have a preservationist function

We understand from the passage that seed libraries depend for their success on —=eeeeeeee,
1) being located in most rural areas 2) providing highly productive seeds

3) their seed availability to everyone 4) their instruction for seed growth

The passage points to the fact that ———eeeeeeeee,

1) seed libraries improve community sustainability

2) seed libraries are advanced hobby curiosities

3) heirloom varieties easily get lost over time

4) no return of seed is required in seed swaps

The term ‘patron’ in the passage (underlined) is closest to —-—-eeeeeeeeee .

1) *farmer’ 2) “customer’ 3) “biologist’ 4) “scientist’

PASSAGE 2:

Recalcitrant seeds (subsequently known as unorthodox seeds) are seeds that do not
survive drying and freezing during ex-situ conservation and vice versa. By and large.
these seeds cannot resist the effects of drying or temperatures less than 10 °C: thus.
they cannot be stored for long periods like orthodox seeds because they can lose their
viability. Plants that produce recalcitrant seeds include avocado, mango. mangosteen,
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21-

22-

24-

25-

lychee. cocoa, rubber tree, some horticultural trees. aquatic plants, such as Nymphaea
caerulea, and several plants used in traditional medicine. such as species of Virola and
Pentaclethra. Generally speaking. most tropical pioneer species have orthodox seeds
but many climax species have recalcitrant or intermediate seeds. The two main
mechanisms of action of damage to recalcitrant seeds are desiccation effect on the
intracellular structures and the effect of metabolic damage from the formation of toxic
chemicals such as free radicals. An example of the first type of damage would be
found in some recalcitrant non-tropical hardwood seeds, specifically the acorns of
recalcitrant oaks, which can be stored in a non-frozen state for up to two years
provided that precautions be taken against drying. These seeds showed deterioration of
cell membrane lipids and proteins after as few as 3-4 days of drying. Other seeds such
as those of the sweet chestnut (Castanea sativa) show oxidative damage resulting from
uncontrolled metabolism occurring during the drying process.

The passage mentions that acorns of recalcitrant oaks may get damaged through ----—--,
1) exchange with non-tropical hardwood seeds

2) desiccation effect on the intracellular structures

3) intracellular metabolic damage to lower root cells

4) formation of toxic chemicals such as free radicals

The passage points to the fact that — ————

1) free radicals prevent formation of toxic chemicals

2) a seed’s frozen state can last for up to two years

3) orthodox seeds can be stored for long periods

4) avocado is a species of Nvmphaea caerulea

We may be able to understand from the passage that ———e-eeeeeeee,

1) most seeds die in temperatures below 10 °C

2) slow metabolism ends in oxidative damage

3) Virola and Pentaclethra are climax species

4) pioneer species have unorthodox seeds only

The word ‘These seeds’ in the passage (underlined) refer to --- ——
1) “recalcitrant oaks’

2) ‘recalcitrant non-tropical hardwood seeds’

3) ‘Castanea sativa’

4) *seeds such as those of the sweet chestnut’

The term ‘ex-situ’ in the passage (underlined) best refers to ——--—--—-—---

1) *away from the natural location’ 2) *depending of growth chemlcdls
3) *according to natural conditions’ 4) *inside laboratory conditions’
PASSAGE 3:

In agriculture and gardening. a cold frame is a transparent-roofed enclosure, built low
to the ground, used to protect plants from adverse weather, primarily excessive cold or
wet. The transparent top admits sunlight and prevents heat escape via convection that
would otherwise occur, particularly at night. Essentially, a cold frame functions as a
miniature greenhouse to extend the growing season. Historically. cold frames were
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built to be used in addition to a heated greenhouse. The name itself exemplifies the
distinction between the warm greenhouse and the unheated cold frame. They were
frequently built as part of the greenhouse's foundation brickwork along the southern
wall (in northern Jatitudes). This allowed seeds to be germinated in the greenhouse and
then easily moved to the attached cold frame to be "hardened-off" before final planting
outside. Cold frames are similar to some enclosed hotbeds. also called hotboxes. The
difference is in the amount of heat generated inside. This is parallel to the way that
some greenhouses are called ‘hothouses’™ to emphasize their higher temperature,
achieved either by the solar effects alone or by auxiliary heating via
a heater or HVAC system of some kind. Cold frames are found in home gardens and
in vegetable farming. A "bulb frame" is a specialized kind of cold frame, designed for
growing hardy or almost hardy ornamental bulbous plants, particularly in climates
with wet winters. Typically it is raised further above ground level than a normal cold
frame. so that the plants can be seen better when in flower. They are ofien used for the
cultivation of winter-growing bulbs which flower in the autumn or spring.

It can be understood from the passage that -----
1) home gardens today depend mainly on cold frames

2) greenhouse were defined as unheated cold frames

3) adverse weather can usually protect spring plants

4) cold frames are not fitted with an HVAC system

The passage points to the fact that ——--eeeeeeee,

1) winter-growing bulbs usually flower in the spring season

2) hotboxes are used as “heat generators’ inside greenhouses

3) indirect sunlight prevents heat from escaping via convection

4) cold frames are used to make the growing season longer

Bulb frames and cold frames, according to the passage,—----------- —

1) are typically used for vegetables

2) differ in their height from the ground

3) are both used for commercial plant farming

4) can be converted to hothouses in cold weather

According to the passage,--------=-eeeee,

1) modern hothouses achieve their heat only through the solar effects

2) industrial greenhouses often include several cold frames inside them
3) a cold frame would be used after a greenhouse in the planting process
4) greenhouses are a special type of cold frame with hardened brickwork
The word ‘latitude’ in the passage (underlined) is primarily a -------=eae-- term.
1) “geographical’ 2) “agricultural’

3) “geological’ 4) *horticultural’
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